toafixed point O inthe plane._ Obtain the differential equation O 1Ls patit.
- B. Sc./B. _A. (Part-II) MATHEMATICS,‘ 2013

- Numerical Analysis and Li P i
T.3H. Sis AN anear Prografiiiis y1.v. 75

#IE:-(_l)m?f—qsrt‘r’IaaTn\sﬁﬁﬁﬂﬁH%|,q@€5§qﬂéﬁ€rmﬁq§q%|uﬁtﬁ
| gr}%ﬁﬁ%aaqaﬁqﬁemwﬁﬁm(2)H%ﬁnaﬁ%aizﬁw%|

% L. 1.(@1)&,Baawﬁaﬁr«amaqﬁ%m,mﬁmﬁxwx’qaaqa'fq‘
SFAOT Eebaie & 2R o ST T |

Find the relation between ¢, 3 andy in order that o+ Bx+ yx*may
be expres ible in one term in the factorial notation. : :
(Sal) SIPIE] am%rsmgﬂamuémaﬁr AN & y(3) & A T T
Using Lagrange's interpolation formula, find y(3) fromthe following table:
x|, 0o| 1 [2]4]5 |
y| 0 16| 48| 88| 0

. (o) T S HTOI o e I & :_x3+3x2+5x_+1§W,/OR

& AU U ¥ | Find thé function whose firstdifferenceis: -~ 3, 5 > :
- ee ' ‘ 3x +5x

+12 where interva of differencing beln ity. o : ,
(aﬁagﬂ%ﬁgsﬁgsr ,Mﬁ%aﬂﬂﬁﬁzsq@qﬁaﬂgw ‘
B:{faig’@ﬁ 1 Hiee | Use Newton formula for interpolation ¢ find th =
‘ : -7 € net

premium atthea e25'fromthetable: DN :
| ,[gArge | Annual net premium
~0~ | 0.01427 e,

Cag 00172

| 32 ] 0.01996 ,

i
|
|
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1 B.oe (Part 1) MALERBEREE 2=

T L. 3, (of) S G 1 ¥, 0 P, R*m%lau%i%s

Use Bessel rmula to find yqs, iven Ll
= 24: 24 b y 3 .
{E‘(}maﬂyﬁgamz quﬁﬁﬁﬂﬁqmﬁﬁh 0.1, {H‘Wf?ﬁf
Nﬁi . @( ga‘—n ﬁ?ﬂq 1 Usmg Trapezmdal rule, calculate the value of

- 0. ge dx.
Givenh=0.1 compare 1tw1ththe exact value.

4. (&) Yot & e 810 1 36 919 g <o

é.] sing Weddle's rule, calculate the value of:
dx

1+%-

a)eﬁn%qamaﬁyﬁgaﬁﬁqaaﬁﬁ%mgaﬁ 5
B A T ndy 536, 44036
Y Y= 6,,s=45926, V.= .\
wﬁm 5. (o) Tafreeta ity o m%nw%gqa%’%ma[ 0, 1] % &t X'+
2%’ - -x=1=0 % qriideh iﬁ's'ﬂﬂ HIT | Using the Bisection method, find the

realroot?ftheequ%nonthZx - X - —Olymgmthemterval[ !fl o

g /OR

3x-5= :
QA M % S HT | Find the real root of the equation X’ - 3x-5=0

correct to four places of decimals b Newton-Raphson Method. 3491 /OR
6. (9) gt fafy Ew ¢ -3x=0 % a&iid® g &I BT |

Find the réz)d oot ?f tE i%‘%latlon e -3x= Q by 1tegat10n method

B 1.50N 1.6 AT -
EISl CILNIEES PSACIERS EG T d 31T Eﬁliﬁq | Find the real rootbetween 1.5

= and 1.6 to four decimals of the equation : x -x'-x -3 =0 by false position
od

7. (o) R BT x,, X,0.onns x, 19gall & w¥il oy =i % wgey
Th \ﬂ‘cfg@ g Bl g Prove that the set of all convex combination of a

- finite number of pomts ...... aconyex set.
e S A e A
olve raphlcally the followmg problem
\ﬂiﬁiﬁfﬁl Maximize :

Z=2%+3x,+6x,
/ UiqErY : Subject to:

iy Xy +3X,+4X3>4 ‘ i
. 2x +X,+3x, <2 and X, X,, X, 2 : GTW OR
8. (&1) 7R Mo AX = 2X>0%W%ﬁﬂ&ag@1ﬂa-qqz5
aqagaagwﬁqa o e e 6 et 1 B O S g 3 oy
amm% ‘
; If convex set of feasible solutlons of AX=b,X>0isg convex -
polyhedron, then show that at least one of the extreme points gIVen an

optlmalsotu)tlon HﬂﬁﬂﬁﬁmﬁqﬂﬁAmBﬁmm%laﬁ
2,000. 5 T AR 1,000%. SR T B B T T AR 5 397 4 oy 3
| ST A R, 150 g o2 S @ T, 50 AR HUE -3 @ it
%mlowaﬂ%w@qﬁm$mmm@%%l?ﬁ3%m 60T
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THEMATICS /9

A - g
Ll 20 T2 LT
R ST R, 407807 2 -0 o et 3R 2| o e 92
Ol e 3 Ry e 2R ¥ 130,000 g o @A 7 5 R IR E
fﬂ-ﬁvmaﬂwﬁam%%wﬂu,ooowu@ﬂﬁ@qﬁgqmmﬁAWB
STTEL AR & et 1 &t et g 76 g o e
Y fecr1-Rec) e vt | o elsAand B. These are
A motor company manufactures two car models 5. 1,000 per
sold to car dealers at a profit of Rs. 2,000 per model A anO' an hours for
model B. Model A requires 150 mar hours for assemblys 20N Model B
painting and finishing and 10 man hours for checking ar}d FeStmg& finishing
requires 60 man hours for assembly, 40 man hours for painting an E-m b .
and 20 man hours for checking and testing. There are 30,000 ma and
available in the assembly shop, 13,000 man hours in the painting : o
finishing shop, and 5,000 man hours in the checking and testing divis(On:
How many car of model A and B should the company produce so as to gain
%%i{?mglzg%f%ll%%%%ﬁhical%%% $0 s]c_:lve t%%’%%ﬁqz
- Salve the following LPP by Simplex method: -
‘ _ Z‘: I%g(ammlze: &
R - Subjectto
3x+y =3,

4x+3y>6

+2y'<4andx,y> 0. - ‘
S o behott i TR
tate and prove fundamental therqem of dua ity. /OR
10. (a1 W%@mmmaﬁ%ﬁwmzﬁﬁq ‘
GFve the dual of the following LP problem :

: Maximize :

B.Sc. part DM

— K = 2x,+3x,+x,
IREESE Subjecttoz: 3
4x,+3x,*+x, =6
X, T 2X%, +05x3 =4 ) ,
dx,>0,x,>0,x,> 0
@hﬁﬁ%mwﬁ_mm@aﬁzﬁm;
-Glve the following LPP by Simplex method :
L B-T%ﬁ'@ﬁﬁﬁ:M&mmlze: DT
Z = 2x,+x,
9= : Subjectto: |, _
- 3x,+5x, <15 P . Y ‘
6x,+2x, <24 e _ M |
'andx,,xzjz 0. . -

»hl:fl‘..---'_'.L: 0 W . ae
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